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(1) OKXERE DL 72 S0,

O x*—8x+7

@ x*+2xr—63

® x*+16x+64

@ x*—15x+54

© x2*+10x+25

@ x*—xr—132

@ x*—6x—160

® x*—9xr—52

@ x*—49

® x*+17x+72

xr*—3xr—28

x4+ 14x+ 45

@ x*+16x—36

’+40x+111
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(2) WOKXZREDHEL LS,

@

®

@

ax*—ax—"72a

x’y— x*y—30xy

a’b*— 4a°b* + 4ab’

3x2+21x+ 36

3a®—15a*+ 18a

—2x*+18x*— 40x

%aac3 —4dax®+ 9ax
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(1) WOKXZEZRE DL 2SI,
(2) WOKXZREDHEL LS,

O x*—8x+7 @ x*—9r—52
DO ax’*—ax—172a ®@ 3x*+21x+36
=(x—7) (x—1) = (xr—13) (x+4) =a(x®*—x—72) =3(x*+7x+12)
=a(x—9) (x+8) =3(x+3) (x+4)
® x*+2xr—63 @ x*—49
=(x—7) (x+9) =(x+7) (x—7)
® dd—a @ 3a°—15a*+18a
® a2+ 16x+64 ® 2+17x+72 =a(a®—1) =3a(a*—5a+6)
=ala+1) (a—1) =3a(a—3) (a—2)
= (x+8)? = (x+8) (x+9)
@ x*—15x+54 x’—3x—28
=(x—9) (r—6) =(x—7) (x+4) ® 2y—x’y—30xy ® —2x°+18x*— 40x
=xy(x*—2—30) =—2x (x*—9x+20)
=xy(x—6) (x+5) =—2x(x—5) (x—4)
©® x*+10x+25 x’+ 14x+ 45
=(x+5)? = (x+5) (x+9)
@ x*—xr—132 @ x*+16x—36 @D  a’b*— 4a*b*+ 4ab? %ax3—4ax2+ 9ax
= (x—12) (x+11) =(x—2) (x+18) =ab?*(a>—4a+4) =%ax(x2—12x+ 27)
= ab* (a—2)* =1 gx(z—9) (x—3)
@ x*—6x—160 @ x*+40x+111 3

= (x—16) (x+10) = (z+3) (x+37)



